SHMSEE L

\\N

RmR SRR A EEHBRERINT

SHSEE
BiA 2B ZERE | RKREK | ZBEE
X %
BH BH B-A B B=C
(NMA[ (N)B| x100 (NC| ()
Bl B 1 1 100.0 1 1.0
(1) D) (100.0) D) (1.0
NERIDEEAR 12 11 91.7 1 11.0
(8) 8)]  (100.0) (0)
PERSHR B 10 8 80.0 5 16
(3) D) (33.3) (M (1.0
B RAR B A 1 1 100.0 0 -
(1) (M| (100.0) (0)
BRRIEH L 4 4 100.0 2 2.0
(2) 2| (100.0) (1) (2.0)
FEEHD 6 6 100.0 5 1.2
(5) (5)  (100.0) (4) (1.3)
EHERT (R GERM) 2 2 100.0 0 -
(0) (0) (0)
N ET 36 33 91.7 14 2.4
(20) (18) (90.0) (7) (2.6)
X( )ARIEEHETAETT,




